Eﬁ%%;.\ EITYULE X CPH

Link Type CP, Parallel Clevis

[%]#& SM11090000
(392009)

éD | ] |
| o |
] l l ]
| |
| |
W S R o O
| | @ fp}
| |
] I I ]
L |
& ' L .
65
®} A, |
1 T 1
| | <
! !
— -ttt —THt—2
| | 4
1 1 1 1
180 1880
! ! 2
@/ T M T
{mm)
. T %
* = =
i ] A TD TM L s HOEE
cP10500 | 6 | 18|16 | 65 | 30 | 0.70 ke
CP10800 18 | 16 | 75 | 30 | 0.98 kg
CP11200 | 12 [ 22 | 20 [ 90 | 40 | 1.43 ke
5 B & 4 HE ® B " &
AKX 1 $S400 FB50 X A
avERIL-Fuk 2% | $5400
avERIILk-Fuk 25 | 3490 CP11200 M160D B
avERIILk-Fuk 25 | $S400 CP11200 M200) B
BYE> 2 | SUS304 b4 %40




Eﬁ%%g BEfAYLE R CRFE

) ) ) SM12050000
Link Type CR, Right—angle Clevis .5(390008)
L
S
F, 19 ,F L1
M | &
” |
< |
)
o | .
N |
\
R
! |
Fl 19 |F
(mm)
i R AhEE |wass
AlBi[B2[CcF[D[M][LI[LI[S =
CR-10800 | 60 |24 |24 |22 | 9 |18 |16 | 75 | 8 | 30 | CR-860G—P | 0.80 kg
CR-10801 [120] 24 |24 [22[ 9 [18 |16 [75] 8 [30 | CR-812-P | | 55,
CR-11001 |120| 24 |24 (22| 9 |18 |16 | 75 | 8 | 30 | CR-812-P '
CR-11200 | 65|23 [ 31[24]15]18[16 75| 8 | 30| cR-1265G | 1.25 kg

F1avRRILEDOM EL, CR-11001 K% UCR-11200TM16{%E FHkF13SS490% % A

o B ® % = # B " &
1 AR 1 SS400
2 | avARILE-Fuk 25 | $5400 M16 X 75 X 30
aAvAaRILE-Fub 25 | $5490 a3
aAvAaRILE-Fub 25 | $5400 CR-11200 M20R
3 | BYEY 2 SUS304 b4 x40

159



Eﬁ%%g BEAYLER) Y CLRE

Link Type CLR, Right—angle Clevis Ring

[X]#& SM12020000

(390004)

O
N _
\\
5 )
<C
o
(@]
K
(mm)
ik
- 3
E*EABCGPKDMLLwSFZF%gE
CLR-10800 | 65 | 26 |22 |22 (26 |16 |18 |16 |75 | 8 |30 | 9 | CLR-865G-P
CLR-11200 | 75 |35 |24 | 26 |32 |19 |22 |20 |90 | 10 |40 | 12 | CLR-1275
B B & 4 HE ® B " &
1 A 1 SF390
2 avERIILk-Fuk 15| 3400
avERIILk-Fuk 15| 3490 CLR11200 M160D B
avERIILk-Fuk 15| 3400 CLR11200 M200) k%
3 | BlVEY 1 SUS304 b4 %40

160



Eﬁ%%;.\ ETHLE R Y CLPH

Link Type CLP, Parallel Clevis Ring 5(83“3(1)38;?000
L
50 S
F E F L1
/7596
] ! )
. i
L _\?
[ |/
¢>D1 @ i L/
i M
|
<C
— ’ —
D_ ;
|
K
(mm)
u ik .
* 5
e ABCGEFKPDtzMLUSZMZM’F_%
CLP-10800|65/24 [22[22|19((9)|16|26|18]|18[16|75| 8 |30] CLP-865G-P
CLP-11200|75|26(24|26(19(12|19(35(18|22[16(75| 8 |30|cLP-1275v-P
F1avERILED# B IL. CLP-11200 & ULCLP-112041%S5490%{% A
h B & 4 HqE ® B " &
1 A 1 $5400
2 avERIILk-Fuk 15| 3400 M16 X 75 X 30
avERIILk-Fuk 15| 3490 SE1
3 | BlVEY 1 SUS304 b4 %40

161




EFER w

. & SM11170000
Link Type H (392022)
o 11
(?E“n_—\LZé:Z)) .
| .
S\ $ ______ _/_’t}_ ______ % :
\\}/,’ w0
» 100 | 2—D
51
26 25
1
| T [ T
| — |
—-—-—--T-— ----- T < —-T"—-—-—OQ
| N | =
\ i )| \ i | —
- -
| | %
G M
{mm)
t D | D M M BREs
6 18 | 18 |M16x65%x30|M16x65%30| 0.40 kg
22 29 M20 X 85 X 40 M20 X 85 X 40
9 18 M16 x 70 x 30 0.58 kg
18 16 X 65 X 20 M16 X 70 X 30
RIS B & 4 H=E ® B " &
1 A 1 55400 FB50 X t
2 avERIILk-Fuk 25 | $S400
3 | BlVEY 2 | SUS304 b4 %40

162



ERREER wavn

. X2 SM11200000
Link Type H for Yoke (39201700)
mERR (HE) 15
(3tARo3 )
/%)6‘ | | | oﬂf)

|

|
B

|

|

|

N
%
o
N o
T
@)

(mm)
t |]A|B|D]|M]|L]|S Eagss
6 18 19 18 16 65 | 30 | 1.10 kg
9 22 22 22 20 80 35 | 1.82 kg

i B & 4 HE # B " &
1 AR 1 SS400 FB50 X t
2 RAIVIRILE-Fub 25 | $S400
3 | BYEY 2 SUS304 b4 x40




E%E%;.\ HfZ SS400 M16-16

Link Type H SS400 M16-16

[X]# SR01500000
(90130611-2)

37
9,19 .9 50
2-¢18
— | M 3
Cj |
S | |
> B O | 3
(@) 1
S |
|| ‘ || ’
A (O I
HMOEE:1.19ke
RIS B & A H= ® B " &
1 A 1 $5400
2 NRAIVARILE-Fyk 2% | $5490 M16 X 65 x 20 X (8)
3 | BlVEY 2 | SUS304 b4 %40




E%E%;.\ HftZz L=140 M16

Link Type H L=140 M16 X & SM11270000

HEER 1Q 65
\p)
| \ | Qg/
R | |
| | |
| |
e 77 D A 15
| |
| | i
| | /
l l
140 25
190
65 60 65
| | | | N
| | | | —
N -
- oy -y -y .4 __ O
Te) J \
L0 EEERE

M16
G EE 150ke
S W A HE # B i &
1 | £EXK 1 $S400
2 | aya—RILk-Fubk 25 | $S400 M16 X 65 X 20
3 | Al 2 | SUS304 »4x40




EfEER w

Link Type Y

& SM11020000
(391012)

¢ 11
(fgRic&3)

A°

|
| 23

100
61
@\ 25 36
\ﬁﬁ
| § — ——
= -y N
T P i | T
S | |
— I | 1
-
» !
M
(mm)
t [ W[ D /| M]L S BEGEE
6 |19 |18 [ 16 | 70 | 30 [ 0.83 kg
o | 22|18 | 16 | 80 | 30 1.20 kg
22 | 22 | 20 | 90 | 40 [ 1.30kg
B B & 4 HqE ® B " &
1 A 1 $5400
2 avERIILk-Fuk 15| 3400
3 | BlVEY 1 SUS304 b4 %40

166



E%E%,—E\ Yz B135F

Link Type Y for B135 é(sgl\g:g)ggggg)o
S |
|
D 5}
s}
| |
$17.5 | 100 | 22 21.5

— L

@ | \ | ! | ©
L
ol .+ r r | | | [e6] O
- | )z R
| ] |
g | i —— =
I i ] |
I8N
1
-
& |k
BEEE 1.18ke
i B ® % M= # B " &
1 AR 1 SS400 FB50 X 6
2 | avARILE-Fuk 15| $5490 M16 X 70 X 30
3 | BYEY 1 SUS304 b4 x40

167



E%E%;.\ Yz WT170F

[X]#& SM11220000

Link Type Y for WT170 (39102300)

50
|

217.5

100

s Nl

g |
\ i )|
Ll
1
odne
HOEE 1.14ke
RIS B & 4 H=E ® B " &
1 A 1 55400 FB50 %9
2 avERIILk-Fuk 15| 3400 M16 X 70 X 30
3 | BlVEY 1 SUS304 b4 %40

168



EIEEER vwzan

[%]#& SM11070000

Link Type Y for Guy Wire (391021)

£ $23.5 $25.5
O
fp] _ S e
o]
|
L 150 32.5
28.5 26.5 /@
o | N\ .
5 I I I o o
B | e L ~
o | | -/ |
4\!/~
@/ M22
HWOFE:222ke
o 0} om A o= ® B " &
1 A 1 55400 FB65 %9
2 NAEVERILEFUR 15| 55400 M22 x 85 X 40
3 BUE 1 SUS304 ®5x%50

169



E%E%;.\ Y#iZ SS400 M16-16

Link Type Y

X2 SR01510000
(90150114-14)

50

150

i 28 20 37

12

‘ T T T T T
? e
o~ I | |
8 | |
PP,
i
3) |Mis
HMOEE:1.79ke
RIS 0} om A o= ® B " &
1 A 1 $5400
2 NAEVERILEFUR 15| 55400 M16 X 65 x 20 X (8)
3 | BlVEY 1 SUS304 b4 %40

170



E%E%;.\ Y#% ACSR330mi

Link Type Y for ACSR330mm 7 SM11280000
917.5 826 .
& | | | &
| | |
i [
| |
(@) N B o S _ _ / _ |
O _E_ ’
i I
l /
|
145 \é} 30
251\, 40 20
\|
S |
> i l T
o ol e
’ 1 N
I O J 1=
;69—
@/MJ\G
HOEE:158ke
RIS 0} om A o= ® B " &
1 TEREK 1 $5400
2 ava—mRILk-Fuk 15| 55400 M16 X 65 X 20
3 | BlEY 1 SUS304 b4 %40

171



Eﬁ%ﬁ%;.\ Y#% ACSR160miFl

Link Type Y for ACSR160mi X # SM11290000

2—817.5 22

50
|

|

|

|

T
|

|

|

3 40 20 30

T | T | I
< o { . | : I : | ©
3 5 Y N
- | R T "
7 o T T T
o (11 o | | ' i L ©
| ;
;_
3 M16
HMOEE:160ke
RIS 0} om A o= ® B " &
1 EE XK 1 S$5400
2 ava—mRILk-Fuk 15| 55400 M16 x 70 X 30
3 | BlEY 1 SUS304 b4 %40

172



Eﬁ%%g (%ﬁé&fﬁﬁﬁﬁ ) BERA HSH

7 7 y
Link Type HS for High—speed Rail ~“Shinkansen é(sgl\g;g)ggggg)o
60
@\ 16, 28 .16
|
0 |
M~ . )
P’)_L 1 __!______ ] §
| ’ 49\ =
T e
o |
© |
LARBEIR \ ]
NN !
AAF N R 2
(@] 7&{____ |
3—¢25.5 l o ’
2 |
1 |- )
I __i_______q;_
2 (_ | [
- |
|
HWOFEE:971 kg
RIS 0} om A H= ® B " &
1 A 1 $5400 FB75 %16
2 NRAIVARILE-Fyk 2% | $5400 M24 X 110 X 45
3 BUE 2 SUS304 ®5x%50




Eﬁ%%g (%ﬁﬁ?%ﬁﬁﬁ ) BERA HS-12

. : . oty ” X & SM11240000
Link Type HS—1 for High—speed Rail = Shinkansen (39203000)
46
@ 12 22 12
fe!
N~ —
N’) | —
\ N
s
B T
3—923.5
(&LR)
o
O
= 7 A \? 2 5 4 —
LERERR i
@)
t@]
)
B ___‘==}
y 41— 1111 o
~ L
N~
HREE:828ke
B B & 4 HE # B " &
1 PN V. 1 SS400 FB75x12
2 | RAIVIRILE-Fub 25 | SS400 M24 x 95 x 45
3 | ElYEY 2 | SUS304 ®5%50




Eﬁ%%g (%ﬁﬁ?%ﬁﬁﬁ ) BHERA HS22

[X]#& SM 11250000

Link Type HS—2 for High—speed Rail ~Shinkansen (39200400)

2—923.5

35 200 35
270
28
| I : | | : 0
%) | | |
( 1 ]
q —Ht———A————FH—=z
1 1
o [ ] o
(1) -
@/ﬁ'
M22
e
HWOFEE:592ke
o 0} om A o= ® B " &
1 A 1 $5400 FB75 X t9
2 NAEVERILEFUR 2% | $5400 M22 x 90 X 40
3 BUE 2 SUS304 ®5x%50




Efng 8 GhEriRA)

EBIRVRYE
Link(for Shinkansen) for Feeder V hanging
BEHRVAYE TR
SM11260000
200
25 150 25
75 75
1 \ g
lo———o)%
| =
1 it
3-617.5 !
R —
v =
| =0
{mm)
& A& T L
BAYV R EFTA 100 BRBER 100 ke
kLA 110
kR JLVSH 120
EHRVAYEA LK
200
25 150 25
' N
lo—— AR
Y ~ i
| O
) [@]Te]
3-817.5 ’
-+ —f
- [a\!
| 50
BEEE 100ke
B B & 4 HqE # B " &
1 AR 1 $S400 t9

176



E%E%;.\ CLR10802

Link CLR10802

& SM11300000

37
9,19 .9
— |
| ~
- — - : - — - o\
____%__
| v |
\. ‘ v, 8 § ,—Ju“
| ) |
| |
__+__
Y __T_
N 1]
1|6
i B & 4 HE % B " &
1 EE XK 1 SS400
2 avA—RILk-Fuk 15| SS400 M16 X 65 X 20
3 | BlEY 1 SUS304 b4 %40

177



UJLE X uow

[X]#& SM13020000

U Clevis Type UC (39300600)

[

« ~t & (mm) e ;
B ATBICcTETFIMILTIs Th BlEy | RHRE
UC-800 |65 (22|16 |19 |10 |16 | 75 | 30 [15.5] ¢ 4 x 40 |uc-865v-2
UC-803 |85 (22 |16 |19 |10 |16 | 70 | 30 |125| ¢4 X 40 |uc-8s5
UC-801 |110(22 |16 |19 | 10 |16 | 70 | 30 [12.5] 4 % 40 |uc-811v-1
UC-1200 | 75 |24 |19 |19 | 12 | 20 | 90 | 40 [15.5] ¢4 x 40 |uc-1275vW-2
UC-1201 |110|24 |19 |22 | 12 | 20 | 95 | 40 |12.5]| ¢ 4 X 40 |uc-1211W-1

m & B ® % M= # B " &
1 AR 1 SS400
2 | avARILE-Fuk 15 | S$S400
3 | BEYEY 1 | SUS304 $4x40

178



U7 '/ t\\x UCH#z

. & SM13030000
U Clevis Type UCH (393007)

" 0 & (mm) Lo
A ATslclplEl[Fla ML s]| ¥
UCH-800 | 95 | 44 | 18 | 16 | 16 | 9 | 18 [M16| 70 | 30 |4 x 40
UCH-1200 [115| 48 | 25 | 19 | 19 | 12 | 22 [M20] 75 | 30 |d 4 x 40
UCH-1500 [135 | 52 | 29 | 22 | 22 | 15 | 24 [M22| 90 | 35 |5 x 50

i B ® % M= # B " &
1 AR 1 SS400
2 | avARILE-Fuk 15 | SS400
3 | BYEY 1 SUS304

179



UOLE RS  suesm

[%]#& SM13010000

U Clevis Ring for High—speed Rail “Shinkansen (39300200)

65

|
[
[ S
|
|
|
I

-

45

|
/_;\ 16

=:
<

i B ® % M= # B " &
1 UsLE R 1 $S400
2 Yy 1 SS400
3 | avARILE-Fubk 15 | S$S400 M16 X 65 X 30
4 | BIYEY 1 SUS304 b4 x40




XI‘E“JjO £16 X 65 X 100

Strap t16 X 65 X 100 X Z& SS01230000

0
o~
M
2—023.5
9$8 3
FEER \

0
| o
m@ ‘ K

< +

65

HOEE: 124 ke
B B & 4 H=E B " &
1 AbSyT 1 $S400 FB65 X 16




— O
AFTYT mrwmexsm

5
Strap for Lightning Protection Wire Section 1% 5501240000

2—-917.5

100
144

HWRESE:075ke
B & 4 # B " &
1 AbSyT 1 S$5400 FB44 x 16

Eo
BH

Bl

182



AMSYT _gmm s

Strap for Bundle Anchor

—{E5I18HA S.C
SS01180000
.rr'ﬁ( @ | ©
T T I I — —— 2|5
E 0
23 150 350 350 150 35
1000 .
e
o\
I I I
[ | R A | IS _ R _ 10O
L B e S
Il Il 1l
$17.5 $21.5 &
HWOFEE:510kg
—fE5188 A HS.C
SS01190000
0 T
O [
e ——J——— - — —T————___13]¢9
o I ™~
23| 150 395 395 160 35
1000
15 FEER -
e
| N
k L f i o
%'T‘_‘ vt [
@]
\ 500 / N
$17.5 $21.5
HWOFEE:760ke
RIS 0} om A H= ® B " &
1 A 1 $5400
2 NRAIVARILE-Fyk 15| 55490 M16 X 65 X 30
3 | BlVEY 1 SUS304 b4 %40

183



— O
A TYT  mmzisyy

[X]# SS02010000

Adjustment Strap Unit (411005)

5 35 50, B §:>
[
=

W, /. _ e
g—j ] < ——|_._———————|—|———ri——————0—§+—|—§—|—|—§—0——1——' _9
N — 'T — —
L
6 d
16 P1,P1
0
| <
: it
{@-f-—" {4 0BP0OO|{{Q) =
217.5 Pl P \6 D $17.5
A
L
(mm)
—
. TeEE)
BRI | SH=eEEHE | A |B|¢D|dd|E|F|H|K |M|P|P1| L
o HARR S A R IR
12 |600(fEIfm10)|710| 23 [17.5(155| 6 | 11|50(725| 9 | 40301215 3 22
282 |400(F5IF=E10)|510|23 [17.5[155| 6 | 11|50(525| 9 |40(30|875| 3 15
382 A |200(f5FR10)(310| 23 (175155 6 |11|50(325| 9 [40|30|535| 3 9
32 B |200(fFE10)|310(23(135(11.5(4.5| 8 |38(325| 6 |40|30|535| 3 9
42 | 100(F5F=5) (20020 [13.5(11.5/4.5| 8 |38|215| 6 |25|20|350| 4 7
RIS B & 4 #H= ® B " &
1 ARSYT(A) 1 S$5400
2 A9 T(B) 1 S$5400
3 NRAIVARILE-Fyk 2% | $5400 M16 X 65 X 30
4 NRAIVARILE-Fyk 15| sUS304 M16 X 55 [ZM12 x 40
5 | BlVEY 1 SUS304 b4 %40
6 EYE> 1 SUS304 d4x40X (& P 3.2% 32

184



AMSYT gz

Strap for Adjustment M, T

SREAM
S$S02130000
530
b5, 120 . 320 . 65 .
o |mm S : N
Al I — | e =R
© 0 — b_@‘ \ =
(o] [Q\]

25 99 80X 6=480

Tg) 1 B O EE 530 kg
3 SHQ——0-— 00—
- 3 550
/=917.5 55, 50 450 28
[19)
S B S —
N &
Q2 3-617.5 e
AEET <
S$S02140000
530
25 120 320 65
© o 1 1 m
Te e = = e
© 0l — %)_TQT
<] t:
25 99 80X 6=480 25,
Tg) 1 B O EE 530 kg
3 HQ——0-— 00—
- 3 550
/=617.5 55, 50 450 25
ol &
- ———P)
§I —f
& 3-817.5
o 3 Wm A ME % #B g &
1 ARSYTA 2 SS400
2 A+5v 7B 1 SS400
3 | RAaVARILL-Fyk 25 | SS400 M16 X 65 X 30
4 | BlYE 2 | SUS304 »4x40




A DYT sesmas

Strap for Shinkansen

EHERA 16X 65x 100

SS01210000

2-923.5

10

FERR

| O

HEEE 124k

B 3 Wm A HE M B g &
1 AR5y 1 $S400
£EREF t X 50 X 150
$S01030000 2-4D 10 mess(=1603)
| | |
1 / i
o ————D—)-
fe]
& i
25 150 25
200
| | |
! | T I T
| VlA ;! =
D (mm) FHRTER t (mm) g2 |BREE
17.5 ACSR330mfi| 16 |FrfEKR| 1.20 kg
215 ACSR160mi
235 AGSR 95mm
HAL300mi | 12 0.90 kg
HAL150mr
HAL95mr
o 3 Wm A ME % #B g &
1 AR5y 1 $S400

186




ATy T

HERA EERSIEA &8

Strap for Shinkansen Feeder Anchor

5245 ACSR160mmAe
S$S01250000

196

23 150

23

Q
$17.5 $21.5 J
¢ 48
|
T I T —— ©
e et B
| | | i X ©
HOFEE 134 kg
R A =EE51%5H
SS01060000
198
23 150 .25
12 !
| [—\ LO
N
+ D —(= )18
P2 | |
$17.5 A $21.5
B @26
| | |
BN L ©
L 1 1 ] | ] N
| |
HOFEE 1.18kg
o 3 Wm A ME # B g &
1 AR5y 1 $S400

187



— O
AFDYD guemszgsizmasp e

Strap for Sinkansen Feeder Anchor Type A-B

A-B#Z 16 x 100

SS01050000
148
23 100 25
94%
! ! 0
_{__ _______ _ _ (@}
3 §} R E
i i o
o)
1% | |
< \¢17.5 A¢17.5/
B ¢21.5
| I | I |
[ Co ©
[ L A
[ [
HWAEE:087 ke
A-Bfiz 16 X 150(5%3HY)
SS01070000
198
23 75 /5 , 29
2 }
! !\ &
————— ~$~ j}—ﬁ—g
| o\
Y |
< 2-917.5 Agl7.
B 821.5
T I T T I T I T
I [ Co ©
Ll [ L A
| | |
HMEEE 118 ke
o B & A H= ## " &
1 AKX 1 SS400 FB50 % 16

188



— O
AFIYTD snemzrsexsm s

Strap for Lightning Protection Cable Division

EEHIRR A AR

SS01220000
HWOFEE:276 ke
450
25 400 25
100 50 50 50 50 100
I | | | g
(@]
{(0—q o o000 o)
[q\!
2 i i i i i i i
< 7—917.5
| | | | | | |
L Bl Bl Bl il ’ R E
i i i i i i i

ZEZEHIRX 5 A B

HNEEE:082ke

29

16.75

2525
50

A

REHRE A CHe

HWAEE:087 ke

29

Bno

& & A

Bl

]

& &

ATy T

SS400

FB50 x 16

189




EEMRGIE

w

Eve Rod

[X]#& SS21020000
(80060000)

B B B
L
W@ X —X’
31 31 ?1 @22 325 228
feB s e e
'\/\D '\QD
Q Q 16 20
(mm)
#£W|A | B | R |BEEREES
13 — | 40 | 10 | 2.36 kg
16 — | 50 | 15 | 3.72 kg
19 60 | 70 | 15 | 5.44 ke
22 70 | 80 | 20 | 752 kg
25 80 | 80 | 20 | 9.76 kg
28 80 | 80 | 20 |12.29 kg
XL=2000DEE
S B & 4 H=E B " &
AKX 1 S$5400




$ A—IFILAF

o

. . & SS21110000
Eve Rod with Terminal Plate (80150000)
27 A 66
26 2—913.5
N
o S41-o-¢f| 2
4 3
;] 38, 911
|
2
_ ~Ne o o _8_?______; _____ _8_?_ _______ o _
[<e]
Q\\(O = /5)76
50 50 50 50
L
L=2000 # R E=:3.88 kg
B B & A H= # B " &
1 AKX 1 SS400 b 16
2 A—ZFIL 1 SS400 t6




